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QUESTION 1

Which one of the following is NOT an objective of problem management?
A. Minimizing the impact of incidents that cannot be prevented

B. Preventing problems and resulting incidents from happening

C. Eliminating recurring incidents

D. Restoring normal service operation as quickly as possible

Correct Answer: D

QUESTION 2

An IT department is under pressure to cut costs. As a result, the quality of services has started to suffer. What
imbalance does this represent?

A. Excessive focus on quality
B. Excessively reactive

C. Excessively proactive

D. Excessive focus on cost

Correct Answer: D

QUESTION 3

What is the reason for using a balanced bundle of service metrics?
A. It reduces the number of metrics that need to be collected

B. It reports each service element separately

C. It provides an outcome-based view of services

D. It facilitates the automatic collection of metrics

Correct Answer: C

QUESTION 4
Identify the missing word in the following sentence.

A known error is a problem that has been [?] and has not been resolved.
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A. closed

B. logged
C. analysed
D. escalated

Correct Answer: C

QUESTION 5

Which two practices use workarounds?

A. Change enablement and continual improvement
B. Change enablement and problem management
C. Problem management and incident management
D. Incident management and continual improvement

Correct Answer: C
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